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HENRY PARK PRIMARY SCHOOL
2022 WEIGHTED ASSESSMENT 1
MATHEMATICS
PRIMARY 3

Name: ( ) Parent's Signature
Class: Primary 3
Duration of Paper: 40 min

etk : Short-Answer Questions
Qmm&ms1m8emw2nmﬁsmmh
Write your answers in the blanks provided. For questions which require uniis, give your
answers in the units stated.

1. What Is the value of the dight 3 in 75327

Ans:

2. Write eight thousand, four hundred and ninety-three in numerals.
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&

653 + 186 =|_ 7

What is the missing number in the box?

Ans:

What is the missing number in the number pattem below?

3508, 3405, 3305, ?
Divide 676 by 7.
What is the remainder?

» 3108, 3005, 2905
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What {s the product of 85 and 97

Ans:

Danny hias 978 cards. He has 567 fewer cards than Vanessa.

Ans:

Ali has 125 stickers. Bala has three times as many stickers as All. How
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msm1&m4mmmﬂ and 12 carry 3 marks each.

For questions 9 to 12, show your working clearly and write your answers in the space provided.
The number of marks available is shown in brackels [ ] at the end of each question or part-
question,

9. There were 8562 people at a stadium. 3856 were men and 3975 were
women. The rest were children.

[

{a} How many adults were at the stadium? Working

Ans: {2m]

{b) How many children were at the stadium?
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10.

Ywdansavadmaqua}atmdofmeadxday.smmmm&

days.

{a) How much did she save each day? Working
Ans: [2m]

(b) How much would Yuxian have saved in 8 days?
Ans: [2m]
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1.  There were 5425 visitors at the 200 last weekend. 3258 of the visitors
visited on Saturday and the rest visited the 200 on Sunday. How many
more visitors were at the 200 on Saturday than on Sunday?

Working
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12. Ahmad had 720 more eggs than Nazii. Ahmad gave 165 eggs to Nazri.
Hew many more eggs did Ahmad have than Nazrl in the end?

Waorking

- Enxi of paper -
Setter: Mr Dominic Sy
Pago?
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S T Qz 8493 \

Q3 [839 / 04 3205 \ A

a |4 / Qb 765 \

Q7 1548 | a8 500 \

Qs a) 3856 4 3975 = 7831 Q10 a} 840 + 6=140
There wdre 7831 adults at the She save 5140 eath day
stadiurn. b} 140x 8 =112
b} 8562 - ¥831 =731 Yuxian would have Nec? $1120in
Thérerwére\731 children at the 8 days.
stadiumg,

Q11 5428 & Q12
3259 — 2166 =
There were IDS2 moteyisitors on more egg than
Saturday thanigrySynday. ]
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